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M 22 m = mL
@ 1 L = dL
@ 1 kL = m
@ 14 do = cm
® 1 mL = cm
6 1L = cm
a9 L = m
® 79 kL = cm
©® 7 m = kL
am 6 L = mL
an 2 m = L
(12 5 cm = mL
(13 956 kL = mL
(4 44 cm = kL
(15 15 om = dL
1oy 18 mlL = dL
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an 64 kL
1 9 m
a9 1 om
Qo 40 dL
ey 2 m
©» 13 do
23 2 mL
4 2 db
@ 2 kL
o 1 m
@n 6 cm
@ b L
©» 20 mL
G 10 kL
@n 3 db
G2 18 mL

dL

kL

kL
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mL
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HWROEME DR (BEX)
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M 22 m?® = 22000000 mL an 64 kL = 640000 dL
@ 1 L = 10 dL e 9 m® = 9 kL
@ 1 kL = I m a» 1 em® = 0000001 m°
@ 14 dL = 1400 cm 0 40 dL = 0.004 kL
& 1 mL = 1 om ey 2 m® = 2000000 cm’
© 1 L = 1000 cm e 13 d. = 00013 m"
m 9 L = 0.009 m 2 mL = 0002 L
® 79 kL = 79000000 cm o 2 d. = 200 mL
©® 7 m = 7 kL @ 2 kL = 2000 L
w 6 L = 6000 mL ) 1 m® = 10000 dL
an 2 m° o= 2000 L en 6 cm® = 0.006 L
(12 b5 om = 5 mL @ b5 L = 0.005 kL
3 56 kL = 56000000 mL @ 20 mL = 000002 m°
(9 44 cm? = 0000044 kL @ 10 kL = 0 m
as 15 cm® = 0.15 dL @an 3 dl = 03 L
1 18 mL = 0.18 dL @ 18 mL = 0000018 kL




